
Divide by Positive Powers of Ten (A)Find each quotient.
5.684 ÷ 10³ = 7.84 ÷ 10¹ =
7.6 ÷ 10² = 4.618 ÷ 10² =
1.595 ÷ 10¹ = 9.595 ÷ 10² =
6.374 ÷ 10¹ = 0.16 ÷ 10¹ =
7.79 ÷ 10³ = 0.1863 ÷ 10² =
4.5 ÷ 10¹ = 1.1477 ÷ 10² =
9.35 ÷ 10¹ = 0.3561 ÷ 10² =
0.406 ÷ 10² = 2.3245 ÷ 10³ =
4.6 ÷ 10³ = 0.255 ÷ 10¹ =
8.3133 ÷ 10² = 7.6 ÷ 10¹ =
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Divide by Positive Powers of Ten (A) AnswersFind each quotient.
5.684 ÷ 10³ = 0.005684 7.84 ÷ 10¹ = 0.784
7.6 ÷ 10² = 0.076 4.618 ÷ 10² = 0.04618
1.595 ÷ 10¹ = 0.1595 9.595 ÷ 10² = 0.09595
6.374 ÷ 10¹ = 0.6374 0.16 ÷ 10¹ = 0.016
7.79 ÷ 10³ = 0.00779 0.1863 ÷ 10² = 0.001863
4.5 ÷ 10¹ = 0.45 1.1477 ÷ 10² = 0.011477
9.35 ÷ 10¹ = 0.935 0.3561 ÷ 10² = 0.003561
0.406 ÷ 10² = 0.00406 2.3245 ÷ 10³ = 0.0023245
4.6 ÷ 10³ = 0.0046 0.255 ÷ 10¹ = 0.0255
8.3133 ÷ 10² = 0.083133 7.6 ÷ 10¹ = 0.76
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